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QUESTION 1

You need to configure iSCSI on your existing ONTAP cluster in a new SVM. The iSCSI LUNs will be served over a new
Layer 2 network using the same physical ports that also use the CIFS protocol on a different SVM. 

Which two actions should you perform to accomplish this task? (Choose two.) 

A. Create a new portset. 

B. Create a new VLAN. 

C. Create a new broadcast domain. 

D. Create a new AD object. 

Correct Answer: BC 

 

QUESTION 2

Which two storage efficiencies have been enabled on the NVMe namespace that is shown in the exhibit? (Choose two.) 

A. deduplication 

B. compaction 

C. compression 

D. thin provisioning 

Correct Answer: B 

 

QUESTION 3

Exhibit. 
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Referring to the exhibit, which FC LIF would cause a path failure on a host connecting to a LUN? 

A. fcp_sanluns01prod02p0e 

B. fcp_sanluns01prod02p0g 

C. fcp_sanluns01prod02p0g 

D. fcp_sanluns0lptodOlp0e 

Correct Answer: A 

 

QUESTION 4

Changes to your organization requires access to an SVM be given to a group of individuals. Your company uses Active
Directory as a method of access control. You decide to use the security login create - vserver engCluster -user-or-
groupname CORP\Admins -application ssh -authmethod domain -role vsadmin command. 

In this scenario, which access rights will this command grant? 

A. read only rights to the SVM engCluster for Active Directory group CORP 

B. vsadmin rights to the SVM engCluster for Active Directory group CORP\Admins 

C. vsadmin rights to the SVM CORP for Active Directory group CORP\Admins 

D. vsadmin rights to the SVM engCluster for Active Directory group CORP 

Correct Answer: B 

 

QUESTION 5

Exhibit. 
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The host in the exhibit is connected to a 4-node ONTAP SAN using dual-fabric implementation. LUNs have been
mapped LUN through all available UFs on nil (our nodes. Switch 2 is powered off for high-availability testing. How many
paths per LUN would you expect the host to see in this scenario? 

A. 2 

B. 6 

C. 4 

D. 8 

Correct Answer: C 
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